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The directivity and gain of an aperture antenna are calculated with a very simple
model using elementary mathematics only, and the results obtained are quite satisfac-
tory. The model used is such that a total power is radiated equally from two points
each located at a half radius on the aperture diameter.

The following equations are obtained, the theoretical ones being shown in parenthe-
sis for comparison purpose.

main beam full width . 2A/D (2.44A/D)
main beam half-power width : A/D (1.0294/D)
antenna gain : 8D?/A? (72D?*/A%)

It doesn’t mean that the presented procedure offers a convenient alternative to
complex theoretical calculation techniques so far, but rather it means this procedure
has verified propriety and usefulness of this very simple model.



